SIEMENS

BT AT A R
R/ B G R AR A R ™ B A

A fak BT, RIERENITE, WA RER R ENASAERK 2
S RS BTN Tk N RO AT 2238 . R RIgEd .
VISP R AE UL FIAR SRS B 4% T e 0
Danger to life when live parts are touched
This device/part carries dangerous voltages. Death or serious injury will result if
you touch live parts. The dangerous voltage is still present inside the device for
/\ DANGER | up to 2 minutes after the supply voltages have been disconnected. Installation,

commissioning and maintenance by qualified technicians only.
Read the information provided in the operating instructions and manuals of the
corresponding Soft Starter.

SIRIUS
W 2 Hieshas 3RWSY
HERH =4
Spare parts for soft starter SRW51
Exploded sketches
SIEMENS AG Telephone: +49 (911) 895-5900 (8°° - 17°° CET) ) )
Technical Assistance  Fax: +49 (911) 895-5907 http://support.industry.siemens.com
Breslauer Str. § E-mail: technical-assistance@siemens.com | 109747404 Q ‘
D-90766 Fiirth Internet: www.siemens.com/sirius/technical-assistance

A5E43582487001A/RS-AA/001 Last update: 18 June 2018



https://support.industry.siemens.com/cs/cn/en/
mailto: technical-assistance@siemens.com
www.siemens.com/sirius/technical-assistance
https://support.industry.siemens.com/cs/cn/zh/
https://support.industry.siemens.com/cs/cn/zh/view/109747404

3RWSH11.-.....
3RW512.-.....
3RW513.-.....

Position Article Number (Spare Part) Article Number (Soft Starter)

1 3RW5980-1TR00 3RWS1..-.....

2 3RW5910-1UA10 3RW51.-.....
3RW512.-.....

3 3RW5913-0PY04 3RW513-...
3RW511.-.....

4 3RW5912-0TB00 3RW512-..
3RW511.-.....

5 3RW5982-0TB00 3RW512-.. .
3RW5912-0SA04 3RW5113-..... (3x)
3RW5912-0SB04 3RW5114-..... (3x)
3RW5912-0SC04 3RW5115-..... (3x)
3RW5912-0SD04 3RW5116-..... (3x)
3RW5912-0SE04 3RWS117-..... (3x)

6 3RW5952-0SF04 3RW5124-..... (3x)
3RW5125-.....

SRW5952-05H04 3RW5126-..... (3x)
3RW5952-0SJ04 3RW5127-..... (3x)
3RW5134-.....
3RW5953-0SL04 3RW5135-.... (3%)
3RW5953-0SM04 3RW5136-..... (3x)
3RW511.-.....

7 3RW5953-0GB00 3RW512.-.....
3RW513.-.....
3RW5126-.....

8 3RW5983-0FF00 3RW5127-.....
3RW513.-..... (2x)

Position Assembly Screws Tightening torque

A 2-a 3,5mmx 19 140 Ncm

B b-c M4 x 12 230 Ncm

c b-6 M5 x 28 350 Ncm

c b-6 M6 x 29 350 Ncm

c b-6 M8 x 30 900 Ncm

D a-7 3,5mmx 19 140 Ncm

E c-6 M5 x 10 350 Ncm

E c-6 M6 x 10 350 Ncm

E c-6 M8 x 12 900 Ncm

F 6-d M5 x 16 350 Ncm

A5E43582487001A/RS-AA/001



3RW514.-.....

Position | Article Number (Spare Part) Article Number (Soft Starter)
1 3RW5980-1TR00 3RWST. -.....
2 3RW5910-1UA10 3RWST. -.....
3 3RW5954-0GF00 3RW514.-.....
4 3RW5914-0PY04 3RW514.-.....
3RW5924-0SN05 3RW5143-..... (3x)
3RW5144-.....
: 3RW5924-0SQ05 IRWS145-.... (3%)
3RW5146-.....
3RW5924-0SS05 SRW5147-.... (34)
3RW5924-0ST05 3RW5148-..... (3x)
6 3RW5954-0GB00 3RW514.-.....
7 3RW5984-0FF00 3RW514.-.....
Position Assembly Screw Tightening torque
A 2-3 3,5mmx 19 140 Nem
B 3-a 3,5mmx 19 140 Nem
C a-6 5mm x 40 350 Nem
D b-5 M6 x 25 1200 Nem
E c-5 M4 x 12 220 Ncm

Technische Anderungen vorbehalten. Zum spéteren Gebrauch aufbewahren.
Subject to change without prior notice. Store for use at a later date.

A5E43582487001A/RS-AA/001

© Siemens AG 2018



